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0 [ NOP |—
1 [ NOP |—
2 [ NOP —
3 [ NOP |—
4 [ NOP |—
5 [ NOP —
Input 1 Input 2 Input 3 Input 4
INPUT1 INPUT2 INPUT3 INPUT4 Output 1
<|[0].0>  <I[0].1>  <I[0].2>  <I[0].3> Q[0].0
6 1 E 1 E 1 E 1 E
Input 5 Input 6 Input 7 Input 8
INPUT5 INPUT6  INPUT7  INPUT8 Output 2
<l[0]1.4> <I[0].5> <I[0].6>  <I[0].7> Q[0].1
7 17k 17k 17k 17k
Input 9 Input 10 Input 11 Input 12
INPUT9  INPUT10 INPUT11  INPUT12
<l[0].8> <I[0].9> <I[0].10>  <I[0].11>
| / [ | / [ | / [ | / [
a/c a/C a/c a/c
Input 13 Input 14 Input 15 Input 16 Input 18 Input 19 Input 20 Input 21
INPUT13  INPUT14  INPUT15 INPUT16 INPUT18  INPUT19  INPUT20 INPUT21
<l[0].12>  <I[0].13>  <I[0].14>  <I[0].15> <I[1].1> <I[1].2> <I[1].3> <I[1].4>
8 1 E 7k 1 E 7k 17k 17k 17k .
ContinuationCoil[0]
Input 22 Input 23 Input 24 Input 25 Input 26 Input 27 Input 28
INPUT22 INPUT23 INPUT24 INPUT25 INPUT26 INPUT27 INPUT28
ContinuationCoil[0] <I[1].5> <I[1].6> <I[1].7> <I[1].8> <I[1].9> <I[1].10>  <I[1].11>
9 1 E 5 E 5 E 5 E 5 E 5 E 5 E 5
Input 29
INPUT29 Output 3
<I[1].12> Q[0].2
F L
C
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OQutput4  Output 5 QOutput 3
Q[0].3 Q[0].4 Q[0].2
10 {1 E J/E u
Output 5
M[0.0  BitArray[0] Q[0].4
11 4 E [ ONS |
M[0].1 OSF
12 H F One Shot Falling —
Storage Bit BitArray[1] —(SB)>—
Output Bit Q[0].5 (OB)>—
M[0].4 TON
13 4 E Timer On Delay —CEND)——1—
Timer T0OO1
Preset 5500 —(DN)—
Accum 0
TO01.DN M[0].2
1C
1C
M[0].4 CTU
14 H F Count Up —Ccu o
Counter Co004
Preset 99 (DN )>—
Accum 0
M[0].5 C004
1k RES
C004.DN M[0].6
1C
1C
M[0].7 ADD
15 4 E Add ——
Source A R[10]
0
Source B R[11]
0
Dest R[12]
0
M[0].8 SUB
16 /B Subtract ——
Source A R[13]
0
Source B R[14]
0
Dest R[15]
0
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MI[0].9 MUL
17 H F Multiply —
Source A R[16]
0
Source B R[17]
0
Dest R[18]
0
M[TO].1O DIV
18 1 F Divide ——
Source A R[19]
0
Source B 100
Dest R[20]
0
M[6].3 LES M[6].13
19 H F Less Than (A<B)
Source A C004.ACC
0
Source B 500
M[6].4 ———EQU NEQ M[6].5
20 4 E Equal Not Equal
Source A R[30] Source A R[32]
0 0 M[6].6
Source B R[31] Source B 0
0
M[6].7 GRT GEQ MOV-
21 4 E Greater Than (A>B) Grtr Than or Eql (A>=B) Move —
Source A R[33] Source A R[34] Source R[36]
0 0 0
Source B 4095 Source B R[35] Dest R[37]
0 0
Always ON
ALW_ON
<SJ[0].6> M[6].8
22 ]k
LIM M[6].9
Limit Test (CIRC)
Low Limit 0
Test R[38]
0
High Limit 100
. AwaysONlnstructon
Always ON
ALW_ON
<S[0].6>
23 L
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(End)
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